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QUESTION NO: 1

What is a benefits of Kubernetes federation?

A. Avoids scalability limits on pods and nodes

B. Creates highly available clusters in different regions

C. Low latency

ANSWER: A B C 

QUESTION NO: 2

What kind of limitation cgroups allows?

A. Prioritization

B. Resource limiting

C. Accounting

D. None of the options

E. Control

F. Server cpu and memory

ANSWER: A B C E 

QUESTION NO: 3

Which control plane component is responsible for scheduling pods?

A. kube-proxy

B. kube scheduler

C. kubelet

D. kube api-server

ANSWER: B 

Explanation:
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QUESTION NO: 4

What are container runtimes with Kubernetes?

A. CRI-O

B. lxd

C. containerd

D. Dockershim

ANSWER: A C 

Explanation:
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QUESTION NO: 5

What do control groups provide when it come to containers

A. Permission

B. Image Storage

C. Isolation

D. Logging

ANSWER: C 

Explanation:
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QUESTION NO: 6

Various Container Orchestrator Systems (COS)?

A. Apache Mesos

B. None of the options

C. Docker Swarm

D. Kubernetes

ANSWER: A C D 

QUESTION NO: 7

Observability and monitoring are not the same?

A. True

B. False

ANSWER: A 

QUESTION NO: 8

Which statement is true about Pod Networking?

A. All pod requires an external DNS server to get the hostname

B. All containers in a pod get a unique IP address

C. All containers in a pod share a single IP address

D. All pod requires NAT to get a unique IP address.

ANSWER: C 

Explanation:

https://kubernetes.io/docs/concepts/workloads/pods/#pod-networking
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QUESTION NO: 9

What standard does kubelet use to communicate with the container runtime?

A. Service Mesh Interface (SMI)

B. CRI-O

C. ContainerD

D. Container Runtime Interface (CRI)

ANSWER: D 
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